
Instructions 

EXTENSION AND SIDE WIDENING ANGLE KIT  
ENSEMBLE D’EXTENSION ET AILES ÉLARGISSANTES  

#700461 (54”) or / ou #700472 (48”) 

\Produit\i700461\FI461.pub I-01 

Install the kit according to the following instructions: 
Installer l’ensemble selon les instructions suivantes: 

A) Remove the carriage bolts (item 1) and flange nuts from the skid shoe (item 2).  
B) Place the right widening angle (item 3) inside the right side of snowblower frame (item 4) as shown. 
C) Reinstall the skid shoe, then the right reinforcement (item 5) the carriage bolts and flange nuts as shown. 
D) Secure in place the reinforcement on the right widening angle with the 1/4” x 1/2” hex bolt (item 6). 
E) Use the widening angle as a template and drill the 9/32” holes in the frame of the snowblower (if they are not already 

drilled). Secure in place with the 1/4" x 1/2" hex bolts (item 7) and flange nuts. Repeat the same steps for the other side. 
F) Install the extension (item 8) on the top of the snowblower and on the widening angles. Secure at the top of each corner 

with a 1/4" x 1/2" hex bolts (item 9) and flange nuts.  
G) Use the extension as a template, drill two holes 9/32” holes and secure with two 1/4" x 1/2" hex bolts (item 10) and flange 

nuts. Tighten all the bolts firmly. 
 
 
A) Enlever les boulons de carrosserie (item 1) et écrous à bride du patin (item 2). 
B) Placer l’aile élargissante droite (item 3) à l’intérieur du châssis de la souffleuse (item 4) tel qu’illustré.  
C) Réinstaller le patin, ensuite le renfort (item 5), les boulons de carrosserie et les écrous à bride tel qu’illustré. 
D) Sécuriser en place le renfort sur l’aile elargissante avec le boulon hex 1/4" x 1/2" (item 6). 
E) Utiliser l’aile élargissante droite comme gabarit et percer les trous de 9/32” dans le châssis de la souffleuse (si ils ne sont 

pas déjà percés). Sécuriser en place avec les boulons hex 1/4" x 1/2" (item 7) et écrous à bride. Répéter les étapes sur 
l’autre côté. 

F) Installer l’extension (item 8) sur le dessus de la souffleuse et sur les ailes élargissantes. Sécuriser le dessus de chaque 
coin avec un boulon hex 1/4" x 1/2" (item 9) et écrous à bride. 

G) Utiliser l’extension comme gabarit, percer deux trous de 9/32” et sécuriser avec deux boulons hex 1/4" x 1/2" (item 10) et 
écrous à bride. Serrer tous les boulons fermement. 


